19.01.18

Homework - To identify the most appropriate method to solve word problems.

SC: Read the question carefully.
Read the question again to make sure you have read it correctly.
Gain an understanding of what the question is asking you.
Highlight any key words in the question.
Decide if it is a mental or a written problem.
Identify the correct operation (+/-/x/÷).
Set out the question using the steps above.
Solve the question.
Adjust your answer to make sure it is given in the correct format.
ALWAYS check your working out and answer to check you have answered the question correctly.



Zak is selling bags of sweets for £0.80. He sells 100 bags in one day. How much money does Zak make? 

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	






In a football stadium stand there are 124 rows of seats. Each row contains 54 seats. How many seats are in the stand altogether?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



A different football ground has a total of 1,948 seats. There are 4 stands in the football ground. How many seats are in each stand?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	





Chloe earns £7,658 in 5 weeks and Adam earns £8,953 in 6 weeks. Daniel says that in one week, Chloe earns more than Adam. Is Daniel right?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	




Ian goes to a McDonald’s store. One Big Mac Meal costs £5.65. One Happy Meal costs £3.92.
[bookmark: _GoBack]Ian buys 3 Happy Meals and one Big Mac Meal. How much does he pay in total? How much change does he get from £20.00?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


PC World are selling iMacs at a cost of £2,846. The shop sells 53 of these in one day. How much money does the shop make?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	





JoJo bows cost £8. How many JoJo bows can be bought with £236?
 
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	





Paula goes into a clothes shop and spends £136 on 5 pairs of jeans. How much does it cost for one pair of jeans?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	





In St Mary’s Church there are 9 rows of candles. Each row contains 52 candles. In St Michael’s Church there are 5 rows of candles and each row contains 64 candles. Which church has the most candles?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Jordan buys the new iWatch for £349, an iPhone for £819.64 and a screen protector for £15.08. How much money does Jordan spend? How much change does Jordan get from £2000?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	




Tobias earns £1,427 in one week. How much does he earn in 46 weeks?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	





In 7 weeks a pet store sells 938 bags of animal food. How many bags of food does the shop sell in one week? How many bags would they sell in 8 weeks?

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



